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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1, TReTefl FITR S1aT UIHUSHOR e A fo |
Candidate must write first his/ her Roll No. on the question paper compulsorily.

2, a4 7 B fard # |
All the questions are compulsory.

3. TS YT HT SURal Tg IR i@ | & o |
Write the answer to each question in the given answer-book only.

4, 5 7e=! # aaR® @US &, 9+ 9 & IR [P 9 & ford | -
For questions having more than one part, the answers to those parts are to be written together in
continuity.

5. W U & f2l 9 el WUy # R yar @ Ffe /s / fRemm g9 ) R 9o @ uee
BT & e A |
If there is any error / difference / contradiction in Hindi and English versions of the question paper,
the question of Hindi version should be treated valid.

6. wUg T ET NP gIH T
< 1—10 1
q 11-15 2
kil 16—25 3
g 26--30 6
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Part Question Nos. Marks Per Question

A 1-10
B 11-15
C 16 - 25
D 26 - 30

T3 BHIE 27 T 30 ¥ STARe @y T

There are internal choices in Q.No.27 and 30.

T D FEEDS 7ot @ o ok ey ) aft B v BT we B @ SR —gRaw @
st gt R @Y AR 3 Ryl Al @ wredR 99 W X B A <

Write on both sides of the pages of your answer-book. If any rough work is to be done, do it
on last pages of the answer-book and cross with slant lines and write 'Rough Work' on
them.

DD WK -

U BH[G 26 B SGIHF TT6 YUk UR g918Q |

Draw the graph of Question No.26 on graph paper.

YUs — I

Part - A
T oS faft grr qote 375 R 678 WLHCF sma 1S |
Find the HCF of integers 375 and 675 by the prime factorisation method.

AP, 17,12, -7 e, # {1491 Ug ST HIFAC |
Find 11 term of the AP, =17, =12, a7 0l e

The cosA=% dl cot A T HH RGBT HINTY | ('"'; ,

2 S0
If cos A= % , then calculate cot A. \U
i )
tan A BT sec AD Tah H fafag |

Express the trigonometric ratio tan A in terms of sec A.

3 e el ® &Fmell Bl YT 16:81 & T gHebT YoTiSl BT SR AT DT

The area of two similar triangles are in ratio 16:81. Find the ratio of its sides.

& T el ¥ O TF ga @ B & e gey g Q W g9 W W W XEiY QP R QR
it g & | HIOT POR &1 A 1 I |

p
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In the given figure, O is the center of a circle and two tangents QP and QR are drawn on the circle
from a point Q lying outside the circle. Find the value of angle POR.

SH7. 5 & Bow 9l g B B W o9 AW R 9eB g W g9 R o wwl Y@ o6 an gad
2 |
How many tangents can be drawn on the circle of radius 5 cm form a point lying outside the circle at
distance 9 cm from the center.
(W8 9E U & ST 9 BTG R aFwd 616 o AF) 2
Find the radius of that circle whose area is 616 cm®.
+¥.9. TR TP g & GrEFugrs 1 Hiv 250° & @ AYBST @os & F197 T i |
If the angle of major sector of a circle is 250°, Then find the angle of minor sector.
#¥.10. TH fHad $I UF TR IBTH O B | 3TB U AL SFNB - ITfgmdr s aif |
A coin is tossed once. Find the probability that it is not a tail.
9ig —q
Part= B
19 1 TR A Mg A-2,5)3R B(-5,y)F =1 Ty liz—‘-,3J3, a1 fég A,B & W4 U @

Y |
-7
If the middle point of two points A(-2, 5) and B(-5, y) is (73) then find the distance between

points A and B.

#¥. 12, UP S eIl Gl Yl TSI &t 462 a7 9l ¥ | 3H) BT g BT |
The tqtal surface area of a solid hemisphere is 462 cmz.. Find its radius.
r 9. 13 N® 9 B @0 B 25 qRIR] &1 9 e Fe aearar deq g e a2
it @ (woat ¥) 26—35 35-45 | 45-55 55—65 65-75 |
qRar! & e 3 7 6 | 6 3
goge fafr g1 aRaRt &1 5ra 2w 59 g
Per day expenses of 25 families of the frequency distribution of a Dhani of a village is given as
follows.
Per day expense (In Rs.) 25-35 3545 |  45-55 55-65 65-75
Number of families 3 7 6 6 3
Find the mean expense of families by Direct Method.
I
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U WY 9 8 AR FHY W W AR R @ v CCTV S o & W) 9 @ Wi ¥ 47
AR ¥ gt Y@ a6 AT I UEa 8| e & R} SR T8 BET Rea Sued amaand
g {qEHAT B7

For traffic control, a CCTV camera is fixed on a 8m straight pole. The camera can see 17m
distance sight line from the top. Find the area visible by the camera around the pole?

U HeX R AR F BRI O 175 {641 €8 70 54 /goer wam iy 9 w8 10 =2 T
Rl o1 IR FRA B | 9 AT B BN AT GO R R TF e, gER Riee W 3
e, G a5 e van g UeR THd REEe W 19 BFe wad 2 g B 96
gga H 59 @l [T T | Suges Ay AR § 7 @R |

A Motor car travels 175 km distance from a place A to place B, at a uniferm speed 70km/hr passes
though all ten green traffic signals. Due to heavy traffic it stops “for onévminute at first signal, 3
minutes at second signal, 5 minutes at third signal and so on stops for 19 minutes at tenth signal.
How much total time it takes to reach at the place B. Solve by suitable.mathematical method.

Yuvg — ¥
Part - C

Rz BT (6 T aralveg dw 2
Prove that \g is an irrational number.
fGoTT 9898 x*+x -2 & TP 00 BINQ, AR GaD] o onep) & 9 B ey @ Fewar 9
Ay @y |
Find the zeroes of the quadratic polynemial x° +x -2, and verify the relationship between the
Zzerces and coefficients.

I9 A P.® U 15 Ual T IET SiE S, Rda arar ok 49t ug Haen 26 i 42 2

Find the sum of first 15 terms.of an-A.P. whose 5" and 9" terms are 26 and 42 respectively.

. UP MR & WE W UHHaH D RRGR &7 I B 30° 2 olR wed @ ug © 99R @ Py

T =TT HI0T 60°, BAf HAR 1 Harg 48 Hex 2 1 A= B A S BAQ

The angle of elevation of the top of a building from the foot of the tower is 30° and the angle of
elevation of the top of the tower from the foot of the building is 60°. If the tower is 48 meters high,
find the height of the building.

AT AT H O vH g9 F dw ¥ R aew Rg ¢ ¥ g9 W ) wwel W@ CA, CB i
g & @ g ST LAOBT LACBERS ¥
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In the given figure, O is the center of a circle and two tangents CA, CB are drawn on the circle from
a point C lying outside the circle. Prove that ZAOBand ZACBare supplementary.

« .21 4cm. 5em 3 7em YAl et U g @ e BT SR /R v ar BT @ vee #IfTg,
. . . 3 .
Fora®! Yol R gv Byt & woe wanait @ 1 T B
Construct a triangle with sides 4cm, 5cm and 7cm and then another triangle whose sides are % of
the corresponding sides of the first triangle.

« ¥ 22 TP G BT AT TR W 45° BT BT AR 3 R U 0 oy Bromavs &1 dEwa 77em?
g, O ga @1 B s S|
If an arc of a circle subtends an angle of 45° at the centre and if the area of minor sector is 77cm?
then find the radius of the circle.

O 23 TP T F EEH Oa] GG Sem x Womx Mem, &7 AoaEx T551 Som @ wis me PRt
g1 T =@ @ Mo B B s oy
Seven spheres of equal radii are made by melting a silver-cuboid of dimensions 8cmx9cmx11lcm .
Find the radius of a silver spheré.

9. 24, Trferad ARel v vanet @\ et X @ 50 Renfdat & i ¥ ur st @ gmid @)

Uiirdh (37) ; :
2030 | 30—40 40—50 50—60 6070 70—80
\

foenffal @1 ey N5 B 8 12 13 3 ‘
ARTS Ah FT-BIY |
The following table shows the marks obtained by 50 students in mathematics of class X in a school.
| Obtained Marks | | | |

20-30 30-40 | 40-50 50-60 ; 60-70 @ 70-80
} Numberof students | 5 9 ! 8 12 13 3
Find the median marks.

AH25 U U 98 ¥, 1 % & O g, 2 T @ 25 fed, 5 5. @ 15 Ridd Ak 10 % @ oF faaw ¢
ﬁ%ﬁ%ﬁ%ﬂmwmﬁwmwﬁmﬁﬁa%wﬁvmmmﬁmwﬁw
wiReser & fb a8 ey gan Rygew—

(i) 2 %, ® BRI? (iy 5% P T8 EF?
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A piggy bank contains hundred coins of Rs. 1, twenty five coins of Rs. 2, fifteen coins of Rs. 5 and
ten coins of Rs. 10. If it is equally likely that one coin will fall, when the bank is turned upside down,
what is the probability that the coin -

(i) Will be a Rs. 2 coin? (i) Will not be a Rs. 5 ¢oin?
©rg —
Part— D

2 e gReTest 3k 3 UfRell @1 q{F qou 17 JUT R, oEfe 3 anare gRadr 3R 4 Ofet &
Bl Hed 24 DUV € | 39 YA BT oAV w9 § 9y o3 q16 Ay | 5 A |

The cost of 2 exercise books and 3 pencils is Rs.17 and the cost of 3 exercise books and 4 pencils
is Rs. 24. Formulate the problem algebrically and solve it graphically.

TS HGAHR W BT faHol IHSt 8181 o § 40 W ARWF w2y AR 9L Hon B yov |
20 . AP B A WT B AT T BT |

The diagonal of a rectangular field is 40 meters more than, the shorter side. If longer side is 20
meters more than the shorter side, find the sides of the field.

Jerdr
Or

17 HIEX &AM a1l U QIR T &1 IRWATS. TF g W UF W1 39 THR Me 2 fo 59
U & U g & Al a7 fags mR amEst A ofiR B A W &) et @1 aeeR 7 #iex 8y
FT UHT B F99 27 Al § a1 SEhEEet | fha gRal ov @ e 27

A Pole has to be erected at a point.on the boundary of a circular park of diameter 17 meters in such
a way that the differences of.its distances from two diametrically opposite fixed gates A and B on the
boundary is 7 meters. Is it possible to do so? If yes, at what distances from the two gates should the
pole be erected?

PR 28. i) T Cos3A =Sin(A -34°)8] T8 A T& <7 ST & @ A &1 A9 51 BT

<Gy FrafaRe wdafie frg @R, et 3 B Red R afve gk 2, w5 oo 8

1+cot’A _(l—cotA)2
l+tan’A \ I-tan A

(i) If Cos3A =Sin(A ~34°), where A is an acute angle, find the value of A.

(i) Prove the following identity, where the angles involved are acute angles for which the
expression is define.

1+cot’A _(l—cot A)2
l+tan’A \ l-tan A

i
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/sr/g. I 3 @1 el oa oy s i (-5, 7), (4, 5) 3R (-4, —5) &

Find the area of that triangle whose vertices are (-5, 7), (4, 5) and (-4, -5).

U.30. <1 amefa § ABC US fnw ) afy ﬁg :(E: a1 fig #INT DE|| BC

A

/N

B C

In the given figure ABC is a triangle. If ’:—g =%§— then.prove that DE || BC

AT

L2\

B C

Herdgr
Or

.30 U% IgYs PQRS & Rt wmeRr Ofig W 39 woR yfiree o £ g%—géla?ﬁsq
& PQRS u® GHerd 2|

The diagonals of a quadrilateral PQRS intersect each other at the point O such that —g—% = %
Show that PQRS is a trapezium.
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